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500/A

Who gave the famous slogan ‘Educate, Organize and Agitate’

(1) Ambedkar (2) Karl Marx

(3) Netaji Subhashchandra Bose (4) Vallab Bhai Patel
‘BB, HAEBOW, Fo K OI LK)?OQE&_)ES QTG0 S0THE?

(1) eodBs),6 (2) 56575,

(3) Je2 dogrQ Ho|Bes*d 4) Soderdd HBS

Which one of the following is NOT a feature of 73 Constitutional Amendment.
(I) Reservations to SC & ST in local bodies

(2) Reservations for women in local bodies

(3) Compulsory Elections for Local Bodies within 5 years

(4) Reservation for OBC, in Local Bodies

788 Trergolf 95888 S020§0W) ©oF0?

(1) TRE Hogod’ Rdrgd Horey, B0 82305k EdyouEo

(2) FOE SoPes® Hirdos 0x05asy §d)ouwto

() 2t S08ETosH 2,830 SHVIDVM™ FIE HoJOH IYFeo 2EHEO
(4) BDodS SErigHos FIE Hoges® D0y §dyoNE0

The Mandal Commission was appointed during the Prime Ministership of
(1) Indira Gandhi (2) Morarji Desai

(3) V.P. Singh (4) P.V. Narasimha Rao

Q BTS $0@ 5e0sS° H0dS WA uT)En BoHwd0R?

(1) =odomod (2)3no§ d70H  (3) .2.208  (4) 2.2.86005° Y

Dinesh Goswami Committee was appointed to deal with

(1) Education Reforms (2) Economic Reforms

(3) Electoral Reforms (4) Legal Reforms

AIA AN S8 808 THS* J DACHR AHA0EDEH?

(1) DgHhoRos Hodybeo (2) o8& Sod),Been

(3) Ao DodyBeaen (4) T ONHERS Hod) Seaexn

5 [P.T.O.
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S)

6)

7)

8)

500/A
Right to Information contributes
(1) Transparent Governance (2) Stable Governance
(3) Closed Governance (4) Dictatorial Governance
SSErTETEY, BI8 FHEHKkrEH08?
(1) 6888 >os 2) %8 Fos
(3) o&rdg e (4) QAoodyss FroS
The National Food Security Act, 2013 does not include
(1) Mid-day meals Scheme
(2) Integrated Child Development Services
(3) Public Distribution System
(4) Supply of food for all
80D HE e B30 2013 HORS® BAA?
(1) Soorgim 28 Hego (2) s 8 w5
() Gerbodbed 5558 (4) ©0¢588 es5580 HEHT Voo

The Consumer Protection Act envisages its machinery at
(1) The National level

(2) The National, State and District levels

(3) The National and State levels

(4) The State and District levels

VST he G8,0 HB5ER &0 H5 Eo GBS ohogroro Fo0S* H Bod?

(1) e&aH FoNS* (2) =80%, ooy, ser Fone S’
() =8, oy FoNOS® 4) og, g FoNOS?

The Indian Federalism is drawn from
(1) United States of America (2) Britain

(3) Canada (4) Germany
88 BTy @ BFo 509 Son8 &FoBod?
(1) cSnIBE ) &5 wos 2) oS
3) 38w 4) =260
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9)

10)

11)

12)

S00/A

The disputes between Government of India and one or more states can be
heard by Supreme Court under its

(I) Original Jurisdiction (2) Advisory Jurisdiction
(3) Appelate Jurisdiction (4) Nominal Jurisdiction

88 (98050, 2,58 B ©08% Do Hopges* &) TFe Soig T @08
2 HOB TUr HONY, 829087

(1) o585 568 2) SosHES H06

(3) eby®y 93 568 (4) THsrSH H06
Inclusive Growth Strategy was adopted first time in

(I) 10™Five Year Plan (2) 11™Five Year Plan

(3) 12" Five Year Plan (4) 6™ Five Year Plan
DAV SR FgTro INEBFOT ©od80EBR?

(1) 5688 Howsy Hea2¥ (2) H6808S5 HowsSY (Hea@¥
() Sods HowssY (Hea9¥ (4) &85 HouS5g (He9

The Bayyaram Tank was built by
(I) RudraDeva (2) RudramaDevi (3) Mailamba (4) Ganapati Deva
20oirgdo DY VBN0H JAS?

(1) sEa3H (2) 53 (3) erox (4) Keo@BYcko
Which Qutub Shahi king was called as ‘Malkibarama’.

(1) Jamsheed Qutub Shah (2) Ibrahim Qutub Shah

(3) Abdulla Qutub Shah (4) Mohammad Qutub Shah

2 SoHHardr o S0 T ENET HenSadTEd?
(1) =088 HeHSr (2) =eiro Hsdar

() oeyer HHvd (4) Homs Hsdar




. : 500/A
13) Who supported Turrebaz Khan during the 1857 revolt? }
(1) MaskanAli (2) Dilwar Khan
(3) Moulvi Ala-ud-din (4) AbbazKhan
1857 @8therene® S0erETraty Hgs ai)od Q5E?
(1) S 2O (2) oSTowS
(3) 5785 wer &BS (4) oD

14) Who was conferred with D.C.L., an Honorary Degree by Oxford University

(1) Sarojini Naidu (2) AliYavar Jung
(3) SalarJungI (4) SalarjungIII
D.CL., ©3 ©§0g cordsgd TEd HpS FoBS8 567

(1) 58 oS (2) @dcsH av6=0h
(3) D& rerdzol (4) Saresd rerdumol

15) Whom did SalarJung I appoint as the Revenue Minister? -

(1) Mukharam-ud-daula Bahadur (2) ShamshirJung Bahadur f

(3) Shahab Jung Bahadur (4) Bassalat Jung Bahadur e i
S3sng 08T TGS Ferbuol ISOD AeHNOTE? |
(1) Swupdo-es-To adrdps | (2), FohGe0ff 25EEE |
(3) Edeol aEgs (4) adroSuHol BTERs (

16) Which one of the following was not built during the reign of the last Nizam?
(1) Wyra Project (2) Palair Project (3) Nizam Sagar (4) Hussain Sagar \
& 808 THS* D8 RS0 dEro 50’ 520668507

1) 2o @By () 980 gy (3) dwodis (1) SN SKE




17)

18)

19)

20)

500/A

Who wrote “Our Struggle for Emancipation™

(1) V. Shyam Sundar (2) B.S. Venkat Rao

(3) PR. Venkataswamy (4) Bhagya Reddy Varma
‘056 |JrS D6 A5 DAS’ Horr) EDoN0B ABEH?

(1) D.zgodoosd (2) .9.3o8¢r» /
(3) ®.eb.Iosboargd (4) ezriigod 3¢

Who were the Editors of the Rahbar-e-Deccan News paper published in
Hyderabad

(1) Ahmed Mohiuddin and Abdulla Khan
(2) Bahadur Yar Jung and Kasim Razvi
(3) Nizamat Jung and Bahadur Yar Jung
(4) Akbar Hydari and Ahmed Arif

I ETerBSt (BB Crab-a-68,S KBS IBLE ISE?
(1) o558 30oHgS ©ob WeRETPD

(2) 2&6r5 oSrdbuol @ok 5306

(3) derHSzof wo& wIrErd oirGuoh

(4) @86 760 ©o& s 0D

/\

Who was the British Resident at the time of 1857 Revolt in Hyderabad?
(1) Davidson (2) Kirk Patrick

(3) Henry Russel (4) CharlesMetcalf 4
TETerES® 1857 86herin 2088 sTood” B8 BHBOE ADH?

(1) 328655 (2) 8, &6 (3 wO RS () T Brsd

Who among the following Hyderabadi joined the Azad Hind Fauz?

(1) Abid Hasan Safrani (2) - Shaik Mohiuddin

(3) Ramakrishna Dhoot (4) Ravi Narayana Reddy
& 808 TETerd TR SH ez ol FES' RTE?

(1) »D8 TBS JFD (2) 5 BoSroidS

(3) d.odERErS 4) o oo




- S00/A
21) Who was the Governor General of India during the Fourth Anglo-Mysore

War?

(1) Warren Hastings (2) Lord Wellesley
(3) Lord Dalhousie (4) Lord Minto
TS GOf - R oﬁaoé D300006® SR H58)5 2888 58?7
(1) &85 yof (2) o 300

(@) erf dan 4) erf ots* -

22) Which of the following books was written by Raja Ram Mohan Roy?

(1) Gift to Monotheist (2) Whither India
(3) The Destiny of Human Life (4) Neel Darpan
& 808 78S UM IFHTRTOD TS HHE?

(I} af to SrS'8ony (2) D66 20805
(B) & 3P ¥H HugHS 8D 4) QS &8s

23) Who was the leader of the Young Bengal Movement

(I' Keshab Chandra Sen (2) Ishwar Chandra Vidya Sagar
(3) Derozio (4) L bendranath Tagore

0%0f BorrS €riigo TTONEE AHE?

(1) 6 SoEDS (2) &HoS0E dergnE /y ;
3) &cade @) BHosTE triirs

24) Who founded the Satya Shodhak Samaj?

(I) B.R. Ambedkar (2) IJntiba Phule

(3) GH. Deshmukh (4) M.G Ranade

S8gT°EE ddrreao LOKE AS5E?

(1) B.ebwode,s (2) =*@er Fd

B) =2.88F50F (4) o00SE.2.658
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25)

26)

27)

28)

29)

500/A
In which year the Arya Samaj was founded?
BUgISrE JDyd Foodadod?
(1) 1875 (2) 1861 3) 1774 (4) 1880
Who led the Bardoli Satyagraha
(1) Vallab Bhai Patel (2) Rajendra Prasad
(3) Motilal Nehru (4) Jayaprakash Narayan
GO HergiistA8 T oES0 SroNod ISHE?
(1) Sefercd HBS (2) oBoBHas
(3) IrBersS IJFor (4) =z=onsa Trorohe

Who among the following was not a member of the Congress Socialist Party

(1) Jaya Prakash Narayan (2) Acharya Narendra Dev
(3) Achyut Patwardan (4) Motilal Nehru

& 808 T0S* I5G oD FROP Ff vEdg TK0?

(1) =z=chHpds*a Troroded (2) sody Sookde

(3) oy HLSYS (4) Ir8erSIHoe

Which book of Tolstoy influenced Mahatma Gandhi

(1) The Nation (2) The Kingdom of God is with in you
(3) War & Peace (4) Honesty

erSToNE HowoRoNS A YREo HFFeyTosd o KardSo BHoB.
(1) & 348 (2) & BoftS &P mE S& IS S o5
(3) o6 ®o& % (4) &3

Who among the following was not associated with the assassination of Saunders
at Lahore

(1) Chandrasekhar Azad (2) Bhagat Singh
(3) Uddam Singh (4) Raj Guru

& 808 T0S° S FoKf) Tr8gS” Ho0Bo BAB ISL?
(1) Hosips s (2) KSdoh

(3) wgodoh 4) oz




30)

31)

32)

33)

34)

35)

S00/A

‘Dyarchy” was the most important feature of
(1) 1892 Act (2) 1909 Act (3) 1919Act (4) 1935 Act

‘$goess HoTreS’ & 808 TVS® @ WO HBgES?
(1) 1892 &0 (2) 1909 o0 (3) 1919 wigo  (4) 1935 wio

In Telangana State, red soils are predominant with a percentage of area about
Boormre TTHos" PEIRd AP Jve QY TS0 TEH?
(1) 48% (2) 55% 3) 59% 4) 62%

The Headquarter of Northern Telangana Agro Climatic Zone is located at
(1) Karimnagar (2) Manchiryal (3) Warangal (4) Jagitial
G808 Boormren SgSFrod 88° Hode DS sTUrgRedH Soo?

(1) &6osK6 (2) Soodorge 3) SsoKS (4) =nsge

The percentage of rainfall Telangana State receives through south-west monsoon

8vorn Uy SEFS0S° Fa08 HHHIT® TG0 0HoR SEFS TS0 HDSEHT?
(1) 70% (2) 80% (3) 90% 4) 95%

Kawal wild life sanctuary is located at

(1) Pocharam (2) Jannaram (3) Eturunagaram (4) Pakhala
8o SSgred HoEes Soo K (@Fogo?

(1) @0 (2) =ando (B) 2erd oo 4) so

In Telangana, the mineral which contributed highest value, after coal, in the year
2013-14.

(1) Iron ore (2) Manganese (3) Lime Stone (4) Granite

2013-14 S058)508° Boomres® &) Suws J8,S emoDo HHErYS PARFH?

(1) S0& asisw (2) Sor0KRS (3) BodDpoon (4) IS
12
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36) Major source of power in Telangana at present 1s

(1) Thermal (2) Hydel (3) Nuclear (4) Bio-fuel

B0omrne’ SIS TS errdo?

(1) 55 (2) TES (3) Srgons (4) aRr-YgoHe)
37) Aero space industry in Hyderabad is located at

(1) Turkapally (2) Tukkuguda (3) Adibatla (4) Pollepalli

TETErRS® A7)0 HOFH Ko HRF0?

(1) 8,59 (2) oo K7 (3) wok @4) &858

38) The district of Telangana with the highest percentage of ST population
(1) Warangal (2) Khammam (3) Adilabad (4) Mahaboobnagar

B80T U"&:}oes‘ gy B 207 @858 TE0 o Ber?
(1) SBossS (2) S0 (B) wdeorerd (4) SoFrarddns

39) Number of districts that the Hyderabad Metropolltan Development Area
' (HMDA) spreads over

(1) Three (2) Five (3) Four (4) Six

TETTE D FOLI BI0DR0E WVAF (WrE.20.8.Q) IA) Berwst DR00D )
woR?

(1) Soreo (2) 260 (3) &eur 4) e

40) Mission Kakatiya does not aim at

(1) Desilting Tank beds (2) Strengthening Tank bunds
(3) Reparing the feeder channels (4) Linking of Tanks

WA 57EB0H HZPF0 R 5°?

(1) 3o GroLds 2) BEHH Htyges DOBEEE

(B) 286 senSod erfHiosnts 4) BOHOSH EenHd




41)

42)

43)

44)

45)

46)

500/A
A line joining places with equal amount of rainfall is
(1) Isohel (2) Isohyet (3) Isoneph (4) Isonif
D50 SEFS HRTON EYEr &) Op?
(1) oS (2) oS 3) 23S (4) 2809
Which of the following earth quake waves are most destructive

(1) Surface Waves (2) P-Waves (3) R-Waves (4) L-Waves
& 808 #rE0d SBomeS’ VS0 DELODEEISD?
(1) &Hdse sdoren (2) H-domren (3) wb -SSormren (4) S - Sdorren

Which one of the following mountain chains has two dissimilar types of
vegetation on its two slopes/sides

(1) Aravalis (2) Eastern Ghats (3) Vindhyas (4) Western Ghats
808 DEYIS D HES @eaown Vo JYo TV HE) B DoNcHE?
(1) =059 (2) Sy ESoden  (3) Doy DIgETen (4) H3yd sSoden

Terra Rossa is a type of

(1) Mountain (2) Ocean Trench  (3) Fish (4) Soil
Do) ©IB 2.

(1) dgs0 (2) d508 wmrgo  (3) BB (4) 598
Indigenously built Atomic Power Station in India

(1) Narora (2) Rawat Bhata (3) Tarapore (4) Kalpakkam
ESBIOS® HBB HOS0S* DBYPONS ©e0DKgS SoE0?

(1) &&'o (2) odSerd (3) eors (4) sogo
The greatest potential for the generation of Tidal Power in India is available at
(1) Konkan Coast (2) Coromandal Coast

(3) Malabar Coast (4) Gujarat Coast

TESBT0S® Fer (Fén-Fén) ¥§ whsor 0 od |Poso?
(1) Eo¥esdso (2) §o006S &do (3) Hwerblso (4) Hauos 8do
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47)

48)

49)

51)

52)

S00/A

Which of the following characteristics of a population is not evident from a
population pyramid?

(1) Age Structure (2) Sex Structure

(3) Race Structure (4) Dependency Ratio

& 8065 90 N) aTer ofEros® AT DENE TIT BV HSNowB50?

(1) Hoido doyeo (2) & 08030 Yo Aoywo
(3) =8 doyeo (4) opsdd aor A8

The percentage of population on earth lives south of the equator?
©H0% Bngo BT erS” FSIGLOPE (8RS SOV 3T TEo DITOM?
(1) 10% 2) 20% 3) 25% 4) 40%

T-Hub in Hyderabad is located at

(1) 0T Hyderabad (2) IIIT Hyderabad
(3) HCU (4) Raheja Mind Space
&8-5°8 Sogo TETerdS” A8 ¢ od?

(1) 208 rdoerd (2) o8 TETeard
3) wSh.o%w (4) G o&HYO

India’s decadal population growth rate has been continuously declined since
USSR aTrer DMHED B € $TR0 oD ST SHdr $3087?
(1) 1971-1981 (2) 1981-1991 (3) 1991-2001 (4) 2001-2011

The sound waves with frequency below 16 Hz are called
(1) Infrasonic (2) Ultrasonic (3) Esonic (4) Extrasonic
16Hz 08 85,8 S:98550 Ko $0 Sdomed JS0otrt?
(1) ad@res (2) werE () 2§ (4) 25ErVE

Which of the following is not a parasitic disease
(1) Filariasis (2) Malaria (3) Tuberculosis (4) Leishmaniasis
& 808 DOYE) TUS* 28 FoPRE 5758 5°E?

(1) 2Bocsr  (2) %80csr (3) bLrgb HeDS (4) HR5rASrHD

15 " [P.T.O.
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53)

54)

55)

57)

58)

500/A
The Test that identifies Sugar levels in human blood is
& 800 T8O S5 G§oS” WS FFon AgBoB HOK?
(1) HINI (2) Hb2C (3) H5NI (4) HbAIC
Excess nitrates in drinking water causes
(1) Fluorosis (2) Anaemia
(3) Methaemoglobinemia (4) Reproductive product

SHABS* AES THo JBE 90 Gokbo Se..
(1) 608 (2) @0 (3) WIIrmhHIdcsr (4) O >E§S &5

Relative loudness of sound is measured in

(1) Megables (2) Decibles (3) Pebbles (4) Coenoble
&0 BSS & 808 JHrQONS HIT0S* FoREm?.

(1) Jomrad (2) @dard (3) ad 4) &gSfas
The pH value of an acid is

(1) Below?7 (2) Above 7 (3) Equa'to7 (4) Equalto0

@300 g, pH Jend? )
(1) 7 808 853 otnod (2) 7 808 28 S &5000d

(3) 78 dSrS0 (4) Doas® dsrso

SARS (Severe Acute Respiratory Synd-ome) caused by

(1) Virus (2) Leishmania  (3) Bacteria (4) Tripanosoma
SARS (98 8508 7538% Howod 788 s6e0?
(1) 385 (2) &xPosr (3) wrgfooir (4) B>StESor

During the process of inspiration of lungs, which of the following is pumped
into blood

(1) Nitrogen (2) Carbon dioxide(>) Oxygen (4) Carbon monoxide
HHOBHOS'W GWd BHEoNS® & 808 TRS® DB GE0S*E JEHT ©YH0H?
(1) Sge (2) =S BeBE () wnzd  (4) sGS TS

16
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59) The scientific study of earthquakes is known as
(1) Seismology (2) Cosmology (3) Ecology (4) Pathology

BrE0TORD QOO GOS0 BOHETR) DB00ETE?
(1) dames (2) smp (3) asro 4) oo

60) Right part of the Human Heart contains

(1) Deoxygenated blood (2) Dehydrogenated blood
(3) Oxygenated blood (4) Hydrogenated blood
SrSS 08 S grfo BAD £ Hodwod?

(1) w8z 88 S50 (2) &&= o8 8go

(3) «@8=I8* &r&S 8¥o (4) &3228 8&r&S %o

61) First order consumers are
(1) Omnivores (2) Decomposers (3) Herbivores (4) Carnivores

QR SEKE DARTNTTLen?
(1) Ssgasssen (2) &sodrud (B) wTeden (4) SrodsEdien

s 62) Plasma phase is one state of matter that exists at a temperature of the order of
T, O3B 2.8 DIy Sg800, 2B & 80 BAWAS SPKS HOHS® &0é00B?
() 10k (2) 100k (3) 1000k (4) 10000k

63) As per WHO, the most wide spread nutritional deficiency, world wide is

(1) Iron (2) Calcium (3) Potassium (4) Sodium
WHO 5750, (:50508° 088 aars® &) FASHE 55H0 98?
(1) 288 (2) sdoo (3) &eracHo (4) R*Ec%o

64) The triple point of water is around
8 BDE Doy BooE), eraPies
(1) 100°C (2) 100°K (3) 273K 4) 273°C




65)

66)

67)

68)

500/A
Which gas is responsible for the characteristic smell of the sea
(1) Acetylene (2) Ammonia
(3) Dimethyl sulfide (4) Tetrasulfuric Dichloride
& 808 JrNONS A ToWY) S B3N 57HS (Smell of the Sea) $H53087?
(1) 3OS (2) o3>
(3) BABS 386 4 Bordeos8s 3886
Which of the following writs is issued by the higher judiciary in case of illegal
detention of a person?
(1) Quo Warranto (2) Habeas Corpus
(3») Mandamus (4) Certiorari
28 Sg80 ey S3BE0m NEOFONSHYE wHS TrgoH LT =8 Bosw 8¢S
(1) & o605 (2) “THODND 5D
(B) SrodBed (4) Do&rTd
Separation of Judiciary from Executive is enjoined by

(1) VII schedule to the Constitution (2) Judicial Decisions
(3) Directive Principle of State Policy (4) Preamble to the Constitution

vgoﬁ:égéé;&: S EgRTGETE S5 00D It Voo VI 808 TES* WY S2B08?

(1) oergoros® AES adkrgSes* (2) &8 sy
(3) «=B3 drgost (4) oargol BHBES®
The day on which the Constituent Assembly adopted the Constitution of India.
(1) 25 October, 1948 (2) 25 October, 1949
(3) 26 November, 1948 (4) 26 November, 1949
oreegolf D0AS S TrergoT) 3rGoNS &e?
(1) 25 w§eb, 1948 (2) 25 v§x6, 1949
(3) 26 $S0206, 1948 (4) 26 SSox6, 1949
18
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69) Which of the following Constitutional provisions directs the State to prevent
concentration of wealth and means of production in a few to the common

detriment?
(1) Article 39 (c) (2) Article 39 (b)
(3) Article 39 (d) (4) Article 39 (e)

808 TBS"  Tamgol (HEB0 HOHE, BENEE FET 0 FRH0BS® ST SoBE)so
507G (©ehewd) ABT0H?

(1) ©0865-39 (c) (2) p¥S-39 (b)

(3) ©0¥6-39 (d) (4) ©085-39 (e)

70) The newly inserted Article 43-B in the Constitution deals with
(l.) Participation of workers in the management of industries
(2) Promotion of cooperative societies
(3) Uniform civil code for all citizens
(4) Provision for early childhood care and education

68 Trargoiios” 9dSe NS @RS 43-B @058 808 T¢38 Ho20809586?
(1) DHoEe cirasrsgos® e arEdwgsogo
) (2) Srsd dodrod @EErow
(3) w08t TFHeK GSd FOWETR) $PoHBaINE
(4) ook HE) SoHos® BrESSobS Fg 0000 Desg

71) Which provision of the Constitution empowers the President to appoint the
National Commission for Backward Classes?

(1) Article 342 (2) Article 344

(3) Article 340 (4) Article 339

02gorfios*  (HEG0 HSE0 TPHS wBoH IHEDBS SEHSO ENASH
QOD0TI5)?

(1) epss-342 (2) eg85-344

(3) ©p8&5-340 (4) ©p§s-339




72)

73)

74)

500/A
Which of the following is not an eligibility condition to be a judge of the

Supreme Court of India?

(1) Judge of one or more High Courts for at least five years
(2) An advocate of Supreme Court for atleast ten years

(3) A distinguished jurist in the opinion of the President

(4) Above 45 years of age

RO RS® F750HBTGT AoHDoBaesH BsHs0 B oy &?

(1) 258 Bo @osH odS TEROS® 50 0 DoShoren T5oRSFYT H
NSRS EARTO)

(2) BE@oEHRS* Ed%0 10 HoSETren TFNTOT HATDS ©HES0
() TPH8 SRS 2.8 TogoH EIKAM FrIoTEEo
(4) 45 BoS&Te L7 S S0 SodkEo

Which of the following is not a standing committee of Parliament?
(I) Public Accounts Committee

(2) Ethics Committee

(3) Select and Joint Committees on Bills

(4) Business Advisory Committee

808 T78S° B FEH0SR 2.8 FoX® SO0 §¢0?
(1) @z e s (2) 388 dende L&
(3) B§ Ho0csw wSd Dene LS (4) D2ID wdtonzb (Sobk) E0

What is the Nobel Prize in Economic Sciences_ 1s called

(1) Magsaysay Award (2) Swedish Bank Prize
(3) John von Neumann Award (4) The Sveriges Riksbank Prize
B8 FLOS" 3W) SBS PED AS00ErH?
(1) oD wag (2) 587 argos BE
(3) S 55 SrgoS oI (4) 50BS 0F) errgof P&
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The popular ‘Fair’ celebrated by Gonds in Adilabad district
(1) Sammakka Sarakka (2) Nagoba 3) Teez (4) Komarelli
whorerd 2ere® Fodhhen BHYHHT DI $8?
(1) B89, 68, (2) ofer (3) &F (4) &5509

The inclusion of which caste in North India in the list of backward classes was
struck down by the Supreme Court recently?

(1) Patels (2) Meenas (3) Jats (4) Guyjjars
GEU8 TFOS  Herd) IEES SSKSe THeres® BEER) 280 D@
£8I3H08? |

(1) »BSen (2) aen (3) aeSen 4) %Hzgs
The word *Thari’ in Telangana denotes:

(I) Land having water source (2) Land without water source
(3) Forest land (4) Grazingland

B00mne® ‘$0’ @HE0 JSB0HSe?

(I) & $%8 Ko gran (2) Q8 358 B g

(3) ®&d g @) dDY0 sH T g

The “Jammi’ leaves given to each other on the eve of Dasara festival in Telangana
are called

(1) Prasadam (2) Bonam (3) Nyvedyam (4) Bangaram
G0 H0hATE 2808860 REPKHI 20y BHH Boomrns® DD Heodrdh?
(1) Garso (2) %o (3) 33sg0 (4) =aomdo

Who led the TNGO’s Strike during 1969 Telangana Movement.

(1) Sridhar Reddy (2) Madan Mohan

(3) Amos (4) Keshava Rao

1969 Boorre wigos® &8.91.8.5'% PR TTONEE0 SeroN0B SK?
(1) 3sod (2) H883r5S

() &35 (4) d550%H
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80) Who was the play back singer of the song “Palleturi Pillagada.....” in the film

“Maa Bhumi™?

(I) P. Leela (2) S.Janaki (3) Sandhya (4) P. Susheela
5 R DASFS® “BBETE HOrE...” €I S0 8 Shesg mand?
(1) .90 (2) 0.8 (3) Hogsy (4) H.%0%0

81) The Six-Point Formula was incorporated in the Constitution of India under
Article
B WNE© HESA) Tergoros” ) BPESS® FotNBTE?
(1) 371-A (2) 371-B (3) 371-CS. @) 371-D

82) The degree college in which Dr. Jaya Shankar served as the Principal

(1) Kakatiya College (2) Mahboob College
(3) Nizam College (4) C.K.M. College
@ES 8.2007086 BRAYFSET HITHS Bl Evrer?

(1) s880%H oo (2) Sobrard Sevre
(3) Rero Eewo 4) d3.Qo.sere

83) Which of the following food item was registered as a Geographical Indication

(GI) recently?

(I) Hyderabad Biryani (2) Rasagulla

(3) Hyderabad Haleem (4) Double ka Meeta

& 808 TES® D 855 DTTR) & DG .8 FHVE SrAEm™ S BF?
(1) Téoers domgd (2) &dhe

(3) Tsoersd TOH (4) &end s Dot

84) Who among the following will be treated as ‘Backward Classes’ as per 2014
Judgement of the Supreme Court?

(I) Refugees (2) Disabled persons

(3) Transgenders (4) Displaced persons

2014 20208 Bty H5750 € 808 TBES* IS DXEVES Ererenr HOKB0SDESE?

(1) sod%soen (2) D8eroien () e (4) dogdeen
22
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85) Which Uﬁiversity conferred the ‘D.Lit Honoris Causa’ on Dr. BR Ambedkar
in 1953.
(I) Osmania University (2) Columbia University
(3) Marathwada University (4) University of London
1953¢5° "6 0.66.00%65),65 ‘8.0¢5 (A5 BE0E) (HerSo BHS QAL gO0%H0 AB?
(1) eamdose QDT go0H0 (2) Foodasr QDT gooHo
3) DTERE DTG0 4) eooss QDT g0

86) How many riparian states are there in Godavari Basin?

(1) Five (2) Seven (3) Three (4) Six
ForsS 88 Hdadrey @ro8os® ) o Hogg?

(1) s @) 7 ) s 4) s

87) TMC is an acronym of
(1) Thousand Million Cubic Meters = (2) Ten Million Cubic Feet

(3) Thousand Million Cubic Feet (4) Ten Million Cubic Meters
TMCe0&rr?

(1) Soxng DOHY Y Dby 2) %8 DOHS DY eorren
(3) Bowg WOHS B85 wihrben (4) 58 200058 w5 oty

88) ‘Pranahita’ river consists of which of the following rivers?
(1) Pen Ganga, Wardha and Waine Ganga
(2) Pooma, Pen Ganga and Wardha
(3) Pravara, Waine Ganga and Manair
(4) Kolab, Wardha and Pen Ganga

@605 S8 808 Sorves Sthe Eeromni TG0 QY0867
(1) »SKorr, T, IowsKol (2) &g, »SHok, T
() ©56, IonS Kok, S:3 4) s, TG, Mol
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89) In which district is the proposed Ichampalli project located?

(1) Karimnagar (2) Adilabad (3) Medak (4) Nizamabad
HEFBS 20D (R @ RepS* S0B?
(1) 8BodKE (2) wdorerd 3) &E (4) dmSocerd

90) Who was the Chairman of the Godavari Water Dispute Tribunal?

(1) Brijesh Kumar (2) R.S. Bachawat
(3) M.P. Singh (4) R.S. Sarkaria
Forsd sore Dad H0,8 Bengds efgien Sg55e800S &*h?
(1) &3] HSr6 (2) @6.8.0T58
(3) Qo.2.20hk (4) ©6.99.507080%°

91) Who among the following officers contributed immensely for abolition of
Vetti/Begar in Telangana region?

(1) J.M. Girglani (2) V. Sundareshan

(3) SR Shankaran (4) PVRK Prasad

& 808 F°0S° O ©55 0 oo (FoSoS® B/ BrE AETOSE JFHom K BTE?
(1) B.do.60emd 2) 2.5055%5

(3) D.6.9086Q (4) 2.2.868.08

92) The famous centre of Pilgrimage in Medak district is
(1) IdupulaPaya (2) EduPayala (3) Moodu Payala (4) AruPayala
DEE BereS® o g8 ASrERwo?
(1) amdodsh (2) doFohve  (3) SHrd dohe (4) b Fobo

93) Devadula project is situated in the district of

(1) Warangal (2) Khammam  (3) Medak (4) Adilabad
BT (B @ WS’ $0d?
(1) SBokS (2) 9o (3) IsE (4) esdoard
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‘Gun Park’ denotes

(1) Police Head Quarters in Telangana

(2) Memorial of Telangana Martyrs

(3) Head Quarters of Golconda Army :
(4) Park Housing Memorial of Police Martyrs

HQrE), ©0&?
(1) Beormes® Fdd r&5%80) (2) Boomre wHHEdHe DB BpHo
() Heoyos by A1) (4) 0% o8HHe LISYo ffo 2§,

‘Kondagattu’ is famous for
(1) Temple of Sri Anjaneya Swamy (2) Temple of Narasimha Swamy

(3) Temple of Venkateshwara Swamy (4) Temple of Ayyappa Swamy

Sotiiiy B8 BHG?
(1) & woudohared darwosHo (2)

& SEL0TIYD Bareo0
() & SosBHsawn Barwoho (4)

&
8 ©OoDgHITD BreoHo

The first day of ‘Bathukamma’ celebrations is called ,
(1) Toli poddu  (2) Saddulu (3) Engilipoolu  (4) Samburalu =
2HE8) HoT S DG 2 DS00ETS?

(1) soag (2) deen (3) QoadFren (4) SHoenoren

Telangana Government announced Kaloji Narayan Rao’s Birth day as
(1) Telangana Official Language Day (2) Telangana Language Day

(3) Telangana Heritage Day (4) Telangana Cultural Day

800rme (HEHE0 5 TTODNBTY DS Sk DD HESoDR?

(1) Boores ©8ss arar 85°E)S0 (2) Bworre grar 8S*E)S0

(3) Beore TEIE; BS*E)S0 (4) Beorrs O BE BS*E)S0
25 [P.T.O.
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98) Which one of the following country has partnered with India to develop Brahmos

missile

(1)K (2) Israel (3) USA (4) Russia
& 808 T8S* D B0 erESBFoS® EOD WIS EHEID Errodood?

(1) o53B& 8ofitan (2) =wErond 3) oos (4) oy

99) Which one of the following National Laboratory is located in Hyderabad?
(1) Research Centre Imarat (RCI)
(2) National Aerospace Laboratory (NAL)
(3) Defence Research & Development Establishment (DRDE)
(4) Centre for Air Borne Systems (CABS)

& 808 TBS* Q oD HOFET Hog TETWES" GR)A?
(1) ‘asess’ HoFsa Soo RCDH

(2) IS 670D BHOLE (NAL)

(3) &) 63§ BSOID0E AFHAD0E (DRDE)

(4) 088 HE Aonb 5°6) PPN (CABS)

100) Which one of the following is a Submarine-Launched Ballastic Missile (SLBM)

(1) Agni-4 (2) Pridhvi (3) K4 (4) Akash
& 808 TBS* B 2eroST H0D HArA0B rBRE £5e3?
(1) on)-4 (2) )8 (3) s-4 4) o537

101) The main objective of Jalaharam, a new Policy of the Government of Telangana
State is

(1) To secure water for the industries (2) To save rain water

(3) To supply drinking water (4) To supply water for irrigation
2OFC0 (HRS Boomen HEHE0 DB, SrES DELo. TR Sngg@do?

(1) HoESHeb sSsodd D DEBowto  (2) S8 A e Bohido

() oHd%H HEHo oo (4) Hobres B HEHT Bowko
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102) Which Union Budget proposed to set up India’s First Women’s Bank under

Public sector

(1) 2012-2013 Budget (2) 2013-2014 Budget

(3) 2014-2015 Budget (4) 2010-2011 Budget

Q 2PES* HHES0m Hirve EE5K @88 ergo§ 2080 BoKoeS* (FEoDoE 8
RgonoTEH?

(1) 2012-2013 wges (2) 2013-2014 2ges

(3) 2014-2015 ao§é5 (4) 2010-2011 83@(”5

103) As per 2011 Census, Female Literacy rate in Telangana State is

20NS 2378 Kead (K5 0 Boomes® $rtrde VET IS TS0?
(1) 80.89% 2) 73% (3) 5799% @) 60 %

104) Value of all goods and services produced within a year is called
(1) Gross Domestic Product (GDP)
(2) Gross National Product (GNP)
(3) Net National Product (NNP)
(4)  Human Development Index (HDI)

28 J054)8 sr00e5® Bhohom SEB oS SHPIO 0¢Eo?

(1) Sro 3Rre8 (2) Bro 8BS
3) oss TRy (4) STITYHY HrDE

105) National Income at Factor Cost means
(1) National Income at Market Prices - Indirect Taxes + Subsidies
(2) National Income at Market Prices + Indirect Taxes + Subsidies
(3) National Income at Market Prices - Subsidies + Indirect Taxes
(4) National Income at Market Prices - Subsidies - Indirect Taxes

F850 59 ©5°60 doH wmroDHo wSm?

(1) =80%h emraho 5576, Soos* - Hog 30 + v den
(2) =80%H smrofo SIS OO + HE% Hiigjen + SEANISN
(3) =&o%H erronHo 005 FEOS® - Bben + HEE H&)en
@) =800 swranho 5570, Ssws* - SBen - H6% Hisgen
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106) Lalith Bhargava Committee was reviewed on
(1) Revenue & Expenditure (2) Irrigation
(3) Land returns (4) Industrial development
©dS S EE B DAoNo?
(1) emon $H0cs0 SgosreS (2) JBFrSHE DS
(3) ol S (4) FOEWEPS)Y DS

107) The Sree Nidhi Credit Co-operative Federation Ltd. has come forward for
promotion of

(1) Dairy Activities (2) Egg Production

(3) Fish Production (4) Vegetables

200 E-w5355 DEBAS B ©DIHZD S0 SQ06?

(1) o &Kot dSowodod (2) g =$)88 Ho2080D
(3) [be HoHs"RE (4) Brdmohe DoHE"RE

108) Gross State Domestic Product of Telangana State during the year 2014-15 in
current prices is about

(1) Rs. 2 lakh crores (2) Rs. 3 lakh crores
(3) Rs. 4 lakh crores (4) Rs. 5 lakh crores
©RQF §6o (Hs76o Bworme Ty B3RS 2014-15¢6°7

(1) &r. 2 oge & (2) o&». 3 vfo &%
(3) o> 4 oo §n (4) &> 5 ofo &%

109)Honey processing unit for agency tribals established by Girijan Co-operative
Corporation Limited at

(1) Kamareddy (2) Nirmal (3) Eturnagaram (4) Kondangula
QB (o8 ABadew WHIAS AdaS VTS SEN0AS To BI (@VRON HoPsd
QTR0 WS [@rodo?

(1) s&8g (2) S (B) R oo (4) SodorHe

110) Urban population in Telangana as per 2011 Census

2011 28 fead ©5°80 Bvorre T QoS He 2Ter?
1) 255% (2) 38.88% 3) 40% 4) 455 %
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111) The veteran cricketer from Hyderabad is known as cultivated stylist
(1) VVSLaxman (2) Azharuddin (3) Jaisimha (4) ArshadAyoob
$9DBE POKYT D BIMKY) T ETEE E30E 5E?
(1) 2.2.05.08& (2) =85S 3) Bdos (4) OIS Vasrd

112) The player from Warangal who revolutionized Indian Ball badminton 1S
(1) K.Rajaiah (2) J.Pitchaiah (3) R.Mallaiah (4) T Lakshmaiah
Q S80KS et Ser@oes shd DHDEBoTR?
(1) somapng (2) B.0t)0%g (3) w6.5000%0 (4) 8.ofohg

113) Who is playing the lead role in Ektha Kapoor’s biopic on Hyderabad cricketer

Mohammad Azharuddin

(1) Sharuk Khan (2) Abhishek Bachan
(3) Emraan Hashmi (4) SaifAli Khan
ATEFE aBHE TETErES® (8866 VOGS S IS0 FAKT0?
(1) 26H8p-S (2) oPaSawyys

(B) =asrSHny (4) Bord wdgrs

114) Which is the most affected tribal community due to the proposed Polavaram
project?
(1) Gonds (2) Chenchus (3) Gotti koyas  (4) Lambadas
BETHS FoSto (B S0 JYST SHF AdaS BK?

(1) Aodsren (2) Bowren (3) /& Sonen (4) eoerden

115) Which town in Telangana was originally known as Indur?
(1) Nizamabad (2) Mahabubnagar (3) Karimnagar  (4) Medak

800 (F0S05°R A HREVO BN ROETHT HewSwGBos?
(1) Qerdrerd (2) Sooardsss (3) §60SH6 4) 3oss

116) Dr. M.M Kalburgi, the writer who was killed recently was to the former Vice-
Chancellor of which University.

(1) Karnataka University (2) Mysore University

(3) Humpi University (4) Gulbarga University

2850 TS5 KBS E5)6 Esond 0.00.809)8 @ DIITFOAITIE BoBS S3d BT
THOo

(1) soeos QDT g0 (2) 86 d¥gIrgooH0

(B) Frod dFkdergooHo (4) Doy dHdegeoHo
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117) Alexis TSipras is the Prime Minister of

(1) Brtan (2) Australia (3) Greece (4) Germany
©Bg)d BPHS & BF HFS Hod?
(1) ®&S (2) e(Rds» 3) 6d (4) =260

118) The following is Not true about Prime Ministers foreign visits in the month of
July 2015

(1) Visit to Uzbekistan (2) Visit to Combodia

(3) Visit to Tajikistan (4) Visit to Kyrgyzstan

28 2015 Joa8 HES 0B BT HEgLSLH HoNORONIH & S8 D2305°¢5?
(1) &EBERS HogS (2) Eot*BosT HSgS

(3) =8, HOS (4) 89AR!S HTgLS

119) The first International Day of Yoga was celebrated on
(1) 21*May 2015 (2) 25" June 2015
(3) 21*'June 2015 (4) 25" May 2015
30658 wodSTBOH B BS'G)H0 2BHYHH)B?

(1) 213, 2015 (2) 25 =5, 2015 (3) 21 =S, 2015 (4) 25 3, 2015

120) Which Academy announces Nobel Prizes
(1) Royal Society of Canada
(2) Royal Swedish Academy of Sciences
(3) Royal Norwegian Academy of Sciences
(4) Royal Society of New South Wales
SBS FvHHOKH HEBOD ©STRBN?
(1) ooHs Fpd ud sdw
(2) ToNS HAS wsTd 8P PID
(3) ToNS TTGRGDS WS END WD PO

-—

(4) ToHs 8 ud Srgdrs 36)
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121) My mother is English teacher at a University.
(1) an (2) the 3) a (4) are
122)Every day before sleeping, I turn off lights in my room.
(1) an (2) the 3) a (4) are
123)Moving to a foreign country is not easy thing to do. You have to
complete many formalities before that.
(1) an (2) the (3) a 4) are
124) Though the is relevant, we need to consider all possible aspects.
(I) information (2) inform (3) informations (4) informing
125) Nowadays, a large number of are getting stressed out easily.
(I) Person (2) Peoples (3) People (4) Personing
126) We do not have a of time, so let’s discuss this quickly.
(1) lot (2) much (3) enough 4) few
127) You must Golconda. It is an interesting historical monument.
(1) wisit (2) be visiting (3) isvisiting (4) wisited
128)Raghav is not the meeting today because he has a medical emergency at
home.
(1) attend (2) attended (3) isattending (4) attending
31 : [P.T.O.
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129) You must visit the handicrafts shop at the end of this road. It an excellent
variety of gift items.
(1) had (2) has (3) was (4) have
130)I _ think the team will win the game tonight.
(1) don’t (2) doesn’t (3) are (4) am
131) Gymnastics a very difficult sport.
(1) am (2) is (3) were (4) are
132)Eighty days not enough to complete this project.
(1) are (2) is (3) were (4) am
133) We must talk what we can do as a community to reduce pollution in our
locality.
(1) at (2) about (3) in (4) for

134) To do this job, you don’t have to be particularly skilled anything.
(1) for (2) in (3) at (4) an

135)Most of the companies prefer to remain in touch with their clients
email.

(1) by ) in 3) to 4) for
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136) Directions: In the question given below, there is a statement followed by two

assumptions numbered (I) and (IT) . An assumption is something supposed or
taken for granted. You have to consider the statement and the given assumptions
and decide which of the assumption (s) is/are implicit in the statement.

Statement: The outer ring road has witnessed many accidents ever since it is
opened for public - City police commissioner in a press meet.

Assumption I: The outer ring road is not opened on auspicious day.

Assumption II: Drivers now will not violate the prescribed speed limit and
other traffic rules while travelling on the outer ring road.

(1) Ifonly assumption (I) is implicit (2) Ifonly assumption (II) is implicit
(3) Ifneither (I) nor (II) is implicit  (4) If both (I) and (II) are implicit
Ardden: & HHS* wf HELS (Statement) 0c5, B0 ‘grAoNS woTen’
(Assumptions) RIFRTZON. 28 HELS BOHETRE SHRFHHEST Dererm 2PA0DS
VTV A0S WoFeRT DEYISW). TrD0DS woTe’ wrrdors (D8ES FoSso
BE0KH0B. FNS HELS 58050 oS BOTOK’ HBRDOD (HELS DoHEDE 9
©0¥0 B> wozen FAOWAZAr HY00B,
B80S - erdrgSeoch 65rere (@80250 £0D WFE HSrmresH JOd00508 - ATEH
SETFBF0eS® K8 FOR EASS.

arAo0S wodo-l:  erdrgioch ST dozo DLPS0T TS 285K E.

DD ©0Fo- Il arErgSecH CmoR BOMRI0S SEtey QED AoHDS
STR) DOWKOT (¢E ErS)So 3.

(1) 220908 eo¥o-I Sovgsad - (2) 22008 @oFo-Ii Seed
() @ DodS woido-I Sr8a%0 Il 5 (4)  2rdodS woFo-1 165w I

137)Directions: In the question given below there is a statement followed by two

conclusions numbered (I) and (IT). You have to assume everything in the

~ Statement to be true, and then decide which of the two given conclusions

logically follow(s) beyond reasonable doubt, from the information given in the
statement.

Statement: India faces worst dengue fever outbreak in years with more than
6,500 confirmed cases - a news report.
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ConclusionI; The health minister is inefficient.

Conclusion II: Dengue fever is spread by Aedes mosquito.

(1) Ifonly conclusion (I) follows  (2) Ifonly conclusion (IT) follows

(3) Ifneither (I) nor (II) follows (4) If both (I) and (IT) follow
oo & BHS* 2.8 HELS (Statement) $:005 Todo AFeiren (Conclusions)
RSO, R HELIK F°Q 2o eTINR D dFosren LS esgrdorr 330050
S, ngom BoasSS" Krg0N0s.

HELS: 6,500 0088 P BoKrg S wrdSeoT Godto TIo doirg 23g80
G ESBIS® 5oN0EEOT TEHRFOEA Beoob - w8 T°T; KGN0

&)éoﬁoo— I 98 Kgagr 08 BIGRE

Rgaio- Il BoKrg 280 AAD S'Hmgor TgHR08.

(1) dgosro- | S (2) Ddgoso- Il SHSEH
(3) dgosro- | SoBaS» Il 57 (4) dgoso- | S8 Il

138)Directions: In the question given below there is a statement followed by two
- courses of actions numbered I and II. A course of action is a step or
administrative decision to be taken for improvement, follow-up or further action
in regard to the problem, policy, etc. On the basis of the information given in
the statement, you have to assume everything in the statement to be true, and
then decide which of the suggested course(s) of action logically follow(s) for
pursuing.
Statement: Nearly 700 people died in a stampede in city *X’ during annual
religious congregation. o
Course of Action I:  People should not visit city ‘X in future.
Course of Action II:  The local administration should plan meticulously the
. assembling and movement of people in the coming years.
(1) If only Course of Action (I) is suggested
(2) If only Course of Action (II) is suggested
(3) If neither Course of Action (I) nor Course of Action (II) is suggested
(4) If both Course of Action (I) and Course of Action (II) are suggested
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doiden: RS @HHS® o8 ©ELS (Statement) So80sw Bok BioESeS BEge

(Courses of action) asgagon. 8508 80bS 65 HELSSR SS0Hg8 HO,B0
ErYEr FoT oo 000 ©He0E LT FOTd. HELSST LEYN)
©OTOR QT A0 d. RN [HELID0 0050 BE SRS $EgL HOEOORS
DD N BRKS APosr) $BS SSTErSom KHBowos.

B0 X $K80s* Dérr 208 508 502065 STHES0S” F¢K) a0 S5y BOAS
&8 Jerbes® Koty 700 So0d 3o,

B8 TS $6g-1  eDRgSS® A58 X SifoeR) SosdosT.
E0E' TS Wog-1l: & SK58 FoT How0dd WHs TN TN DoSSTes* &Een

DETBFSG0g Ao, T 6B HEBI ©8 W EET HEEo B G0
(MelyaalelmloR

(1) 8DESRS $8g-1 SrEd ©f 25

(2) &E TS w6g-1l S ©f 6

(3) =8cAS Bokh BRETYS SGgen ©SEIED
(4) =5g0g Boko ERE TS SGgen ©f oSS

139)Directions: In making decisions about important issues, it is desirable to be
able to distinguish between ‘strong’ and ‘weak’ arguments so far as they are
related to the issue. ‘Strong” arguments must be both important and directly
related to the issue. “Weak’ arguments may not be directly related to the question
and may be of minor importance or may be related to the trivial aspects of the
issue.

The statement given below is followed by two arguments numbered (I) and
(II). You have to decide which of the arguments is strong and which is weak.
Then decide which of the answers (1), (2), (3) or (4) is the correct answer.

Statement: Should the Prime Minister stop visiting other countries?
ArgumentI: ~ Why should he stop visiting other countries?

Argument II: By frequent visits, lot of public money is wasted.

(1) Ifonly argument (I)is strong  (2) If only argument (II) is strong
(3) Ifneither (I) nor (IT) is strong ~ (4) If both () and (IT) are strong
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S00/A
orEiden: Poiren BHHT S0t ¢ APcSredH erdRd swres® (@arguments)

2 VOTXD, A ETSPID B BOD G0BKEO0 BSBG0. BOWS TEOY HELSS
©OTRS ST $020¢50 EON SNPFHIIT B wOYFTEZ0 EOASITET oo,
& (HHS® o 2.8 HELS (statement), 3o araren (arguments) RQB0TTO0.
S DHELSK, o HBRO0D NS T VOPSE’, OLPSBIE* AGonowWoh.
@EOS:  DFS 0@ BTN IFEo WSrge?

Fo-l  DBBASTH0 BoHgho oto%d eHosrgd?

aso-1l  s55> T Do S0 WErESo BB THo ©HEH0.

(1) &>o-l S woPoss 2) ado-ll Srgd wese

(3) =2S Toth Tmer 2OPID 59 (4) 2))S Bowk Twen eao;i_xé;)/

140) Directions: In the question given below there is a pair of events (I & II). You
have to read both the events (T) and (II); and then decide the nature of relationship

(cause and effect) that exists between them. ,

Eventl: The number of chain-snatching cases has increased in the recent
past.

EventII: Nowadays more people have started wearing chains.

(1) If(I) s the effect and (II) is its immediate and principal cause o

(2) If(I)is the immediate and principal cause and (1I) is its effect

(3) If(I)isan effect but (II) is not its immediate and principal cause

(4) If (II) is an effect but (I) is not its immediate and principal cause

& 806 AY)S o dobodols (events) HBEO0D 7¢3 NGy &) 5°0esG8 (cause

and effect) $02005°Q) dgonowsod.

D00S-I: BESW Aends Bod FH SossSare Dopg & Hgg NS 0. )‘

dootos-Il & Sy 8B B008 JoS* Fendo F:oEHEo 0050 LT,

(1) SBooers-| HerSo; o8 HEs s6w0 HDouers-lI

(2) Doers-ll HerSo; 8 Hes 80 HowersS-|

(3) Doeod-| HerSo; 570 T8 KBS 580 Hodas-Il s

(4) Soeod-ll HerSo; 570 8 HFS s°6mo Hoerd-l s
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141)In a row of forty five boys facmg north, M is thirteenth from the left end and S

is seventeenth from the right end. How many boys are present between S and

M in the row? el nfugin) et R 20
28 SOBS* SrENBEY B WK 45 0B arendd G, A H0D 135 0w
M Gamido. H& S0d 175 g0’ i33 ﬁragcso S, Mo $0¢5g Qoss008 arentrs
/s as? —53 _5RR Y 4 03
? | (1;JD 15 = 2) 16 'H_C-(g%/n 1 '2 (4)“%18 3y

/A

\’l\(s/ S|

\L142)If A x B’ means ‘B is wife of A’; ‘A + B’ means ‘A is brother of B ‘A * B’ 0 ﬁ
means ‘A is daughter of B> and ‘A B’ means ‘A is son of B’ | then howisR ~
. 4 related to S in ‘RxS-T+B * Q’?

T 8= Wife (2) Husband  (3) Brother (4) Sister
5 Ax B’ esm ‘B, A qng, arsg ‘A+ B’ et ‘A, B &g, dtd; ‘A* B wsm ‘A,
}r B B8, srefoth; $3005 A - B’ o8t A, B @), 8°68; ©ond ‘RXxS-T+B *
Q's* R, S & d%09es? s A i “B
\ (1) ersg (2) (3) RFescocsd (4 son d
S S

143) A,B,C,D and E are standing on a straight line. A.B and C are not at the extremes.
\ C is in the middle of A and B. No one stands towards right of E. B is standing
at third right of D. Who is standing next to E?

€A, B, C, D 5808 E 2.8 565689 2050 svameh. A, B 58050 Cdpsh D 956 86,
a €A Bo 5555° C dsamt. E8 £8398 d856r 8. D8 5858, Surd PSos* B
OF © T sa. E @988 256 dami?

(1) C (2) D 3 A (4) B

p Lﬂ’

144)In a code language, if WARANGAL is coded as XBSBMFZK, then how
ADILABAD should be coded in that language?

2.8 §'8 orhes® WARANGAL o3 Sréd XBSBMFZK @9 SrDoNSE s, e

eraes® ADILABADS der drowd?
£) BEIMBCBE (2) BEMJBCBE (3) BEIMZAZC (4) BEIMZBZD

145) What should come in the place of ‘?” in the following senes‘?l 4,27,4,25216,7?
& 808 DERS' 7" Pos® @ Bopg 553087

1, 4 27, 4, 25, 216, 7, ?

1) 49 (@) 343 3) 512 4) 64
/\}F\/ 7 9’\/ g » ,f PR Ty 9%
o g O oaam Y : ‘,.,,» [P.T.O.

“@
/d q

. "b (\a
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146-150 questions Instructions : The following table shows the population of six
different towns, ratio of males to females among them, percentage of adult males
and minor females. (Population given in lakhs)

146-150 SHosH Sruseo : & 8ol a$ VGES® BB HYT0S aTIr, HHA QO
A8, YHes® a8 (adult male) =go Sooosw QOS* DI TEo BT,
(zaver Sopg ofos® 2Sc0858)

TOWN | POPULATION | MALES : FEMALES | %ADULT MALES % MINOR FEMALES
P 1.5 1:1 60% 35%
Q 1.0 352 50% 30%
R 25 2:13 5% 50%
S 09 - 4:5 55% 40%
T 4.5 7:8 70% 25%
) 46) What is the minor male population of town P? \S 65 5
4 PSS < y‘/}
/! P D0S* YHA0S® JoS50d DSE? Yo x"*’g 3
S
(1) 45,000 (2) 30,000 (3) 26.250 /ﬂ')/ 48,7?@'/.,-?;‘S
kT
147) What is the adult female population of town Q? v A &—0/03
1 o >
‘Q sye06° &) ROS* JogSos B (adults)? S ¢°° <
@ L —,)o o\
(1) 12,000 (2) 30,000 (3) 40,000 /(Aa 28,000 .o
© .\00' 3(9"
148) How many minors are present in Towns R and S together? 2 = (:o ¢ o
! > > o° ;
R S080%0 S QT OS* &) Ingo DY dopg Jog? P ‘-SO € "po \'V/,/
jl_;,-‘ 80 D\)
(I) 1,33,000 (2) 30,000 (3) 42,000 4* §,4’)’L 65,000 *°
»
A s P
149) What is the difference between male population of towns T and P? ?01 o
0 552
T $58050 P DQT VS HHde Gy 8z Do&? U\){°’°° e
7 /7 D
(1) 1,25,000 (2) 1,47,000 (3) 2,10,000” Q}/‘f) 1,35,000 V\ ¢ ?°
N NP
/ %
150) The male population of town R is what percent more than female population
of town Q? : ‘Lf)bfcpo \ ff:,b/f’ 1, 30,000
R DRPOS* &) Hwe Sopg Q HEE0S*R Eop Dopg EI7) 08 TEo Iy 57
(1) 100% (2) 140% (3) 180% (4) 200%
‘0 g . LTO)OOD
F4+++ T
38 ¢ 5, 022





